CITY C	OF FRISCO BID TABULATION			Gear Clea	aning Solutions
OPENED 1-11-2022 2:00 p.m.				9030 Viscount Row	
BID NO. 2212-016					s, TX 75247
	Cleaning, Inspection, and Repair of Fire PPE			rick@gearcleaning solutions.com	
<u> </u>	ig, moposion, and respair or more E				Johnson
					774-2213
Item	Description	Est. Qty	Unit	Price	Extended Price
	A. Cleaning and Decontamir	nation (Set i	nclud	es Coat and Pan	it)
1	Advanced Cleaning (Structural)	400	Set	\$50.00	\$20,000.00
2	Advanced Cleaning (Proximity)	1	Set	\$0.00	\$0.00
3	Advanced Cleaning (Light Weight)	250	Set	\$10.00	\$2,500.00
4	Basic Cleaning (Structural)	200	Set	\$14.00	\$2,800.00
5	Basic Cleaning (Proximity)	1	Set	\$0.00	\$0.00
6	Basic Cleaning (Light Weight)	1	Set	\$10.00	\$10.00
7	Pre-Wash (Structural)	400	Set	\$0.00	\$0.00
8	Pre-Wash (Proximity)	1	Set	\$0.00	\$0.00
9	Pre-Wash (Light Weight)	1	Set	\$0.00	\$0.00
10	Spot Clean (Structural)	400	Set	\$0.00	\$0.00
11	Spot Clean (Proximity)	1	Set	\$0.00	\$0.00
12	Spot Clean (Light Weight)	1	Set	\$0.00	\$0.00
13	Ultra Clean (Structural)	200	Set	\$0.00	\$0.00
14	Ultra Clean (Proximity)	1	Set	\$0.00	\$0.00
15	Ultra Clean (Light Weight)	1	Set	\$0.00	\$0.00
16	Decontamination	200	Set	\$45.00	\$9,000.00
17	Boot Clean	300	EA	\$5.00	\$1,500.00
18	Glove and Hood Decontamination	900	EA	\$1.00	\$900.00
19	Helmet Decontamination	300	EA	\$5.00	\$1,500.00
20	Boots Advanced Clean	300	EA	\$5.00	\$1,500.00
21	Gloves Advanced Clean	600	EA	\$1.00	\$600.00
22	Helmet Advanced Clean	300	EA	\$5.00	\$1,500.00
23	Hood Advanced Clean	400	EA	\$1.00	\$400.00
24	SCBA Mask Advanced Clean	1	EA	\$2.00	\$2.00
		Subtotal	Α		\$42,212.00
	B. Inspection (Se	t includes Coa	at and F	ant)	
25	Advanced Inspection (Structural)	400	Set	\$20.00	\$8,000.00
26	Advanced Inspection (Proximity)	1	Set	\$0.00	\$0.00
27	Advanced Inspection (Light Weight)	250	Set	\$5.00	\$1,250.00
28	Boots Advanced Inspection	300	EA	\$5.00	\$1,500.00
29	Gloves Advanced Inspection	600	EA	\$1.00	\$600.00
30	Helmet Advanced Inspection	300	EA	\$5.00	\$1,500.00
31	Hood Advanced Inspection	400	EA	\$1.00	\$400.00
32	SCBA Mask Advanced Inspection	1	EA	\$0.00	\$0.00
	c (Subtotal Coat Repairs	В		\$13,250.00
33	Coat Zipper	200	EA	\$28.25	\$5,650.00
34	Coat-add inspection port	200	EA	\$0.00	\$0.00
35	Coat-leather pocket	200	EA	\$8.00	\$1,600.00
36	Cuff coat Arashield/Fabric/Leather	200	EA	\$11.05	\$2,210.00
37	Cuff on Pants -Arashield/Leather/Fabric/Other	200	EA	\$13.18	\$2,636.00
38	Flashlight pocket	200	EA	\$5.00	\$1,000.00
39	Leather elbow patches	200	EA	\$2.00	\$1,000.00
09	Loather elbow patolies	200	ᅜᄉ	φ2.00	φ400.00

40	Mic Loop	200	EA	\$10.63	\$2,126.00
41	Patch 12" x 12"	200	EA	\$10.63 \$78.62	\$15,724.00
42				,	
	Patch 4" x 4" Patch 8" x 8"	200	EΑ	\$13.92 \$34.94	\$2,784.00 \$6,988.00
43			EΑ	*	. ,
44	Patch per square inch	200	EA	\$0.82	\$164.00
45	Radio Pocket	200	EA	\$7.00	\$1,400.00
46	Radio Pocket Notch	200	EA	\$0.00	\$0.00
47	Restitch up to 12"	200	EA	\$6.28	\$1,256.00
48	Survivor flashlight holder	200	EA	\$5.00	\$1,000.00
49	Waterwell	200	EA	\$7.00	\$1,400.00
50	Wristlet	200	EA	\$17.00	\$3,400.00
51	Replace arm	200	EA	\$75.00	\$15,000.00
52	Replace entire collar	200	EA	\$20.00	\$4,000.00
53	Shoulder pad	200	EA	\$5.00	\$1,000.00
54	Shoulder patches / ID Patches Blank and Numbered	200	EA	\$21.00	\$4,200.00
55	Sunlance	200	EA	\$0.00	\$0.00
56	Thumbhole Wristlets	200	EA	\$20.83	\$4,166.00
57	Trim All on coat- Scotchlite Trim	200	EA	\$0.00	\$0.00
58	Trim All on coat-Triple Trim	200	EA	\$217.35	\$43,470.00
59	Moisture Seam tape (per inch)	200	EA	\$1.75	\$350.00
60	Reseal moisture barrier	200	EA	\$0.00	\$0.00
61	Reseal tape	200	EA	\$0.00	\$0.00
62	Velcro @ COLLAR SHELL	200	EA	\$0.75	\$150.00
63	Velcro @ FLASHLIGHT HOLDER	200	EA	\$0.75	\$150.00
64	Velcro @ POCKETS	200	EA	\$0.75	\$150.00
65	Velcro @ RADIO POCKET	200	EA	\$0.75	\$150.00
66	Velcro @ THROAT STRAP	200	EA	\$0.75	\$150.00
67	Velcro @ COLLAR LINER	200	EA	\$0.75	\$150.00
68	Velcro one side Stormflap	200	EA	\$25.50	\$5,100.00
69	Stormflap Velcro (hook & loop)	200	EA	\$51.00	\$10,200.00
70	Increase Chest per inch	200	EA	\$43.91	\$8,782.00
71	Install DRD retrofit	200	EA	\$0.00	\$0.00
72	Lengthen coat per inch	200	EA	\$26.80	\$5,360.00
73	Lengthen Sleeve per inch	200	EA	\$25.70	\$5,140.00
74	Reduce chest	200	EA	\$26.15	\$5,230.00
75	Shorten coat	200	EA	\$42.25	\$8,450.00
76	Shorten Sleeves	200	EA	\$28.56	\$5,712.00
77	Move radio pocket (includes trim)	200	EA	\$6.00	\$1,200.00
		Subtotal	С		177,998.00
	D. Pa	nts Repair			
78	Pants zipper @ crotch	200	EA	\$13.95	\$2,790.00
79	Pants zipper @ legs	200	EA	\$0.00	\$0.00
80	Pants-add inspection port	200	EA	\$0.00	\$0.00
81	Pants-leather pocket	200	EA	\$20.00	\$4,000.00
82	Pants-replace all trim-Scotch lite	200	EA	\$40.00	\$8,000.00
83	Pants-replace all trim-Triple trim	200	EA	\$80.33	\$16,066.00
84	Pocket replacement-leather	200	EA	\$46.10	\$9,220.00
85	Replace entire fly strap	200	EA	\$53.55	\$10,710.00
86	Steam channel knees	200	EA	\$49.09	\$9,818.00
87	Trim all pants-Scotch lite	200	EA	\$0.00	\$0.00
88	Trim all pants-Triple trim	200	EA	\$0.00	\$0.00
89	Velcro @ fly (hook & loop)	200	EA	\$25.50	\$5,100.00
	○ / \	• • • • • • • • • • • • • • • • • • • •		,	72,:2010

90	Velcro one side Fly	200	EA	\$11.16	\$2,232.00
91	Bellow Pocket	200	EA	\$52.90	\$10,580.00
92	Belt Clip	200	EA	\$4.46	\$892.00
93	Belt Loop	200	EA	\$5.00	\$1,000.00
94	Knee Replacement-Leather/Fabric/Arashield	200	EA	\$17.85	\$3,570.00
95	Reface Pocket-Reinforcement	200	EA	\$40.95	\$8,190.00
96	Reinforce knees	200	EA	\$10.00	\$2,000.00
97	Take up strap	200	EA	\$10.63	\$2,126.00
98	Moisture Seam tape (per inch)	200	EA	\$1.75	\$350.00
99	Reseal moisture barrier	200	EΑ	\$0.00	\$0.00
100	Reseal tape	200	EΑ	\$0.00	\$0.00
101	Velcro @ fly (hook & loop)	200	EA	\$25.50	\$5,100.00
102	Velcro one side Fly	200	EΑ	\$11.61	\$2,322.00
103	Veloro @ POCKETS	200	EΑ	\$0.75	\$150.00
104	D-ring-with rivets and leather back	200	EΑ	\$1.89	\$378.00
105	Grommets	200	EΑ	\$1.89	\$378.00
106	Hanging Hook	200	EΑ	\$3.00	\$600.00
107	Hook-with rivets and leather back	200	EΑ	\$3.00	\$600.00
108	Replace zipper head	200	EΑ	\$2.00	\$400.00
109	Rivets	200	EA	\$1.28	\$256.00
110	Snaps	200	EA	\$2.23	\$446.00
111	Suspender button	200	EA	\$4.11	\$822.00
112	Install pass hook or strap	200	EΑ	\$5.00	\$1,000.00
113	Increase hips	200	EA	\$30.52	\$6,104.00
114	Increase Waist per inch	200	EA	\$20.35	\$4,070.00
115	Lengthen Pant- Wild land (Per Inch)	200	EA	\$29.45	\$5,890.00
116	Lengthen pants per inch	200	EA	\$14.45	\$2,890.00
117	Lengthen Pants-Wild land Gear	200	EA	\$29.45	\$5,890.00
118	Reduce Waist	200	EA	\$14.02	\$2,804.00
119	Shorten Pants / Liner	200	EA	\$79.88	\$15,976.00
120	Shorten Pants-Wild land Gear	200	EA	\$29.45	\$5,890.00
121	Move knees up 1"	200	EA	\$7.00	\$1,400.00
	·	Subtotal	D		\$160,010.00
	E. Misce	llaneous Servi	ces		
122	Move radio pocket (includes trim)	10	EA	\$5.00	\$50.00
123	SCBA accountability tags-bottle	20	EA	\$26.00	\$520.00
124	SCBA Package (shoulder and bottle)	20	EA	\$50.00	\$1,000.00
125	SCBA shoulder tag	20	EA	\$21.00	\$420.00
126	Barcoding	1	EA	\$0.00	\$0.00
127	Hanging name patch-letters included	50	EA	\$60.20	\$3,010.00
128	Letters sewn on directly on garment	50	EA	\$4.25	\$212.50
129	Loose name patch-includes letters	20	EA	\$32.13	\$642.60
130	NFPA class	4	EA	\$0.00	\$0.00
131	Remove letters	20	EA	\$4.00	\$80.00
132	Replace helmet label	1	EA	\$0.00	\$0.00
133	Bartack	50	EA	\$4.11	\$205.50
134	Binding tape per inch	100	EA	\$0.10	\$10.00
135	Letters	20	EA	\$2.00	\$40.00
		400	Ε.Δ.	\$40.20	\$4,020.00
136	Name patch w/ Velcro-letters included	100	EA	ψ+0.20	φ1,020.00
136	Name patch w/ Velcro-letters included Replace Trim (per foot)	50	EA	\$10.20	
	·		_		\$510.00 \$0.00

PPE Bid Tab

140	Replace tetrahedron-helmet	1	EA	\$0.75	\$0.75
142	Repair/Replace Velcro by Inch	200	EA	\$0.75	\$150.00
143	Repair/Replace Moisture Barrier by 4" X 4"	200	EA	\$15.30	\$3,060.00
144	Repair/Replace Moisture Barrier by Inch	50	EA	\$2.00	\$100.00
145	Repair/Replace Thermal Liner by Inch	50	EA	\$2.00	\$100.00
146	Initial Inspection of Gear from Manufacturer	50	EA	\$8.00	\$400.00
147	Disposal of Structural Firefighter Helmet	100	EA	\$0.00	\$0.00
148	Disposal of Structural Firefighter Coat	100	EA	\$1.00	\$100.00
149	Disposal of Structural Firefighter Pant	100	EA	\$2.00	\$200.00
		Subtotal	Е		\$14,832.10
150	Any service provided not on Tab will receive what % off list price	10%			
151	How many days to return gear receiving annual inspections	2			
152	How many days to return gear that is unscheduled for repair	10			
		Grand ⁻	Γotal		\$408,302.10